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1. Simplify the following

a) 6a+4b+3a-5b

c) Q’.. —_ Sl
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Directions:

* Answer all questions on the paper.

* Show all necessary working, Where more than one mark is allocat
may not be awarded for answers only.

Marks may not be awarded for careless or badly arranged work.
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Expand and simplify where possible

a) 6—-4(x+5) (1)
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Factorise fule
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4. Factorise and simplify where possible 6 marks

2 2
m* —=3m m* —4m x+5 x+4
a + - 3 b - 3
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5. Solve the following B ' 4 marks
2x ™ '{
a) 7+9=5~2x @) b) A1-3x<-1 ®
!
6. Solve simultaneously: 2x+3y -10=0 and 5x-y+26 - 0 2 marks




7.

Solve

a) x? —9x =20 @) b 2x* ~13x+15=0

Solve x> —12x-5=0 by completing the square

Solve x* — 6x~4 = 0, leaving answers in simplest surd form.

Rationalise the denominator in the following
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15.

16.

17.

Write the following correct to 2 significant figures

a) 973210 7 (1)  b) 0003185 - (1) c) 4049

Write 0.17 as a fraction in its simplest form

2
Evaluate 64 3without using a calculator

At a sile whlch offered a discount of 15%, John bought a camera for $640.

What was the ougmal prxce of the camera’7
a

Increase 36kg by 20%.
Write 540 000 000 in scientific notation. .

Write 2.33x10™ as a basic numeral.
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Simplify the following

8  Ga+4b+3a—5b (1)
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Expand and simplify where possible

) 6-4(x+5) )
=6-%2-20
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) By+H(2y+3) @
= 672 7 ?’yfg}/ e
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Factorise fully

a) a>=25+ab-5b ")

- /’(Iff/(g-f/,é/ﬁ'sj ~
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4. Factorise and simplify where possible _ 6 marks

m? —3m m? —4m x+5 x+4
- 3 b B LR 3
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5. Solve the following - x(ﬁyj(fa_'y 4 marks
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6. Solve simultaneously: 2x+3y-10=0 and 5x-y+26=0 2 marks
'Z?Lf‘;y—/ﬂ =0 @
57.—7r76 =0 @
?—z,f‘gy = /o 5
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7. Solve

4 marks
a) x? —9x=-20 0)) b) 2x* ~13x+15=0 )
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8. Solve x* ~12x~5 =0 by completing the square 3 marks
1 e p4% e £r34 /
[7(, 6) = (,//
9. Solve x? ~6x—4 =0, leaving answers in simplest surd form. 3 marks
2232y 44 /
C"—' 3) b = 13 3
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X = g:ﬁ}
10.  Rationalise the denominator in the following 5 marks
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Write the following correct to 2 significant figures

a) 973210 @ b)) 0003185 /(1) ¢) 4049
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Write 0.17 as a fraction in its simplest form

z=0.7727, |
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Evalvate 64 3 without using a calculator N
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At a sale which offered a discount of 15%, John bought a camera for $640.
‘What was the original price of the camera?

£40¢ BSximom pop / _ﬁ 7'5—2\_7(/

)

Increase 36kg by 20%. %3 LR /

Write 540 000 000 in scientific notation.

’kg S-% A Lo®

Write 2.33x 10~ as a basic num@ra].

0. 000133 //
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